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| UNIT 1 Unit Circte and Graphs

' .
1.) Find a {+) and (-) co-terminal angle fc>rj ’g‘é’” 3 33? 2.) Evaluate sin(— %E) ,,é:
(=
3.) Evaluate tan 300° ~ \FE 4} identify the guadrant where sinf < Oand ¢os8 < 0. Tfj
| (-> (-
5.) For the function f(x) = —2sin (gx) — 5, identify the Tollowing: amplitude, vertical shift, and period. 277 pert od
. 2 y="5 % x
6.) 1dentify the eguations of the following graphs: 2
: |
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%{x\] zﬁ.f%(%‘}”"z -ﬁ@ = "Zﬁmg%u‘) e
7.) Let @ be an acute angie such that sinf = — and ¢ot < 0. Find the value of secf BT
(osy | -8
8.} Let @ be an acute angle such that cos8 = — Z and tan > 0. Find the value of csc6
25 i t"'/
E Lind il |
| UNIT 2 Inverses F=zay B/ |
1.} Name the inverse functions and state their domain and rangei'\%___’jJ =1 V/E.S
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2.} Evaluate: Tan™t ( ) 3.) Evaluate: Cos™(sin (r%r)) 1 1?) i
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5.) Solve; cos ?x — 3cosx +2.= 0
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6.) Solve: 3tan®x—1=0
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4.) Evaluate: cci.;’(
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Yeus, o g ol Yin, 12 '3 !
7.) Evaluate: sec [arctcm (g)] IR 8.} Evaluate: cscjarccos (—- %—)] . i
412 b 1 = |
o °F ‘:;sé‘ f ] %
[ UNIT 3 Triangies . J
1.) Find both the area of the triangle and the 2.) Find both the area of the triangie and the m2E.
. = A - ' K -
length of AB 3 .if;g}(‘;@l‘smgﬁa) w\jgf 5(.5 Y3, 5)(/5 §>
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PR = 25.9m S
\“"?.T Find the length of IM: 4.) Soive triangle ABC below:
A 4
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4 = ¢ 3m 7r ;2‘{3\
| 50 15170 smi*&%’ sin &8 i
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5.) a) Hinge TheoreR How many solutions exist for AABC, given that £A = 48°,a = 15,andb = 7.
1

- E {ﬁ:ng@X?} 5.2 =heignt }wmjt»s bmﬁw Heen %c:ﬁh—} ¢ fweel = [ sofube
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B &
b Hinge Theorem: How many solutlons exist for AKLM, given that <K = 68° k = 10,and m = 12

(ﬁmb%‘)i FARIN hmﬁé-\iw hmﬁe;,, i fs&mhﬁj%\'&’%g}f ;
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t) Hinge Theorem: Ho%r exist for AABC, given that £A = 36°, a = 13,andb = 14
(If two tnang!@ ex:st find all missing sides and angles of both triangles)

(3| 3 XJ"!‘) 1.3 = mﬁm }smﬁe,,s% weay e Than M?’\-} hut Fss Hhan
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| UNIT 4 Use of Idenitities Trianele® 2 |
1.) Simplify the following to one term: secx — sinxfanx v
Aooosint sty L - sintx L, D-sintx wé&w

2.) Use a sum or difference identity to evaluate the following: cos(—15% -» £ os{ {38 -495°) o @533 powg b5y ﬁ:ﬁg $ings®
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3.} Sohve: sin29—2= 0 _ 4.) Soive; 2sin‘x + 3§;nx +1=0
. . N
r“_z 11 +....L»JE Z2ssan 4 1 ‘251?:;( i-aﬂ;:;&
i @ 2 snB e T = \
v * V2 vz 2{sing HIY2sinx #1) 2 D
Sinbe X Y2 %% IF SN T iy = -t Sinxs tifp /8T
s & 4lTqlqn 4 . coté . . "
5.} Verify: ~en®p = 1 6.) Verify: ;B" = sin# cos @
dap? cse- & _
& o1 = v W30 i | rososind = wndom@ v
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7.) Find the exact value of the trigonometric function sec(u v) given that sinu= —=2 and COSP = ——— (Both uandv
are in quadrant l") - i z’ﬁ F 12 'y = gm 2% ﬁgéi
304 - 24 za., gzﬁ i2% igt 4
8.) Find the exact valuk of the trlgono etric function os(u — ) given that cosu = - and lies in guadrant IV and ‘
— |
fanv = f 3and in quadrant I (’___ {31 - B Yy |
o1 z g Tio ‘
&% Pl Bad ‘iﬁ\
| UNIT Matrices A
1 7 0 1 2
| 3 -1 [ ] [ ] 9 —3 3 5 27
4= B=1~-3 2] L=|-3 0 4 D= E=
{6 —_2} P 5 _7 1 [2 -1 Sjl [3 —11 _
1.} Using tie given matrices above, find the following:
a)D=x B b.) E7? c.) 4] d) A—B e) |Ct

[z.a ~<7J [3 ; AP NP - G5

2.) Find the area of AOLA given G(2,—8), L(—1,—4), A(3, 5) ‘
Bz 219 |

3.} Solve the following using a matrix equation.

in one week, a trophy store sold 32 trophies for a total of $580. Large trophies cost $25 each and small trophies cost $15
each. How many of each type of trophy were sold? 555 + iy * G F 19 < largqe trophiss

X 44”32 g3 = Spal {"raf)h}é'.ﬁ

4.} Solve-the following using a matrix equation.

Kali and Eduardo each improved their yards by planting grass sod and ornamental grass. They
bought their supplies from the same store. Kali spent $204 on 14 ft* of grass sod and 9 bunches
of ornamental grass. Eduardo spent $140 on 7 £ of grass sod and 14 bunches of ornamental
grass. Find the cost of one fi? of grass sod and the cost of one bunch of ornamental grass.

X +Gy = 3209 5 [y [ 204 ) x =4z
X gy 2310 M w 1 mo_l y b

5.) A parabola passes through points {-5, 81}, (-1, 17); and (2, 11}. Create a system of equations that represent each set
of points. Then-solve the systemn using matrices_ Find the equatlon of the paraboia. -4
a(5yd(-5) FC =31 ol +i-1) iC = q{;}‘)%b(g‘sm—um
6.) A parabola passes through points {1, -2), (- 3, 10),and (4, 31) Create a system of equations that represent each et of
points. Then solve the system using matrices, Find the eguation of the parab f?; [,75 ]

Q({B 4 b+ G(3)F Hb-8) te= 10 a4y fb{‘*o}*‘l =3l g 2x24ix~9

| UNIT 6 Conics . |

1.) Describe how to tell the four different conic sections apart when given the equations both in the general form and in
standard form.  Cirgle, . x2 ¢ €y 2 heve M See, Coe{ficents

«ipse f }"ﬁpu bota, - x¢ z \;.2 have, i Lo d (‘MN}(HH“

Payahoia’ ¢ ighey yz o el pse ({%m{rsm has a 4 )

\{aﬂ’iﬁ nai- Ry per baia (equation hase~)
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(x=2)  (-47 _
+ 1 =1

7.} What is the distance from the center to the foci of the following:
44 -1a= el
Viz= ¢ = £5719
3.) Convert the foliowing from general to standard form: x° —4y® +8x — 8y +8 =0 x “tRx -4
Then, state the.coordinates of the vertices and foci. | x +4)* _ (f!”j"’ y (x 2 8 F) - ‘f(ui J 23 i i) 3

cender (-4, 1) 1= 2 [5:fc* 4 | q
v dinakes (b1} (-2,1) foo (ive,-1) ) (~.23,71) (x14) -yt 0* :I
4)Wr|tetl$eequat|onofa parabolawithafocusat_(-iS) and a vertex of {-3, 2). L 'Y i

PR 3 (x#3) =02y~ 2) \

5 Find the equation o  perhola thathasfoc @ (£, 0) and verties @ (£3,0 CEL O IR
C1+b2 R 5"{( \j___ :r ar f:)?-
he= 25-9 B 4

6.) lden‘tlfy the conic using the following equatlon 25x% + 12y — 150x ~ 144y + 357 =0
29x? - 190x +f2y - !ﬁf%}q 351

[UNIT7 vectors  35(x%- (x+§ ) +i2 (42 —!Zq + 3l ) =357 25 ('x -3)% 41z (y- uV*3300
+229 30
2
1.} Find the-magnitude and direc-tign of the following vectors: 4322 L&,ﬁ * Q——é
a) o = {—2,4) b) b= (2,~4) cye= {—;5, —3) d} d=(5,3) r\
(- 5)* 3 -2y o2 2
(2 4l = c2 (232 byt eca VRIS & JL_, \ﬂ;i;‘ ¢ ellipse
o () 4t c : ﬂ,(;g\) 2 34 ,
X - 2,. - - A1 = 2, o - ]
H b = ¢ tan (2 J20+72 tan” () [F43c ) = 546> 39.90
o Zé:iCL <= ZIJ— @jj{@ 4M 7 ' ‘Q“"’-‘@Qdﬂﬁ.{-@?n {_:.\;%q@jgioci& tqﬂwi(%—):
. N |
2.} Find the compenent form of the following vectors: ten ( Zg)” ' |
a.) magnitude of 5@ 225° - b.) magnitudeof 6 @ 127° c.} magnitude of 3 @ 290°
(0395° =2 | cas53 = st 3
9 &N\, g l WS 10°= !
22 -3 637 ¥z 3wl |
X= 353 {35373 e T x=102 |
225 _ .. sing3 4 |
smus = Y. SN R (e st 10’ 2 |
5 =419 1. - = a
=563 ! Z1.02-2,82 2%:1 :
3.) If a= (5,3) and c={—4, 2}, then find 2¢c — 3a 4) Hfm={—2,4) and n=(1,~5), then fnd Sm+2n |
249,27 - 345,37 Le-2,97 43¢0 '
£-3 .47 F L45 -7 . {---1'274 {2’»—107 |
£+23,~5 7 Li,-87 053
S5.)A e takes off from Palm Springs Airport at an angie of 120° and traveiing 200mph. A 30 mph south wind is {an” ( oo
blo‘\gmn (toward North), and is pushing the plane oﬁ—%ourse Find the groundspeed and true course of the plane, 2 4
P %:;J_.Y-@«-ﬂs N Cos o™ = ’; X=160 £ 100, 203 37 @ ltle. ”
P - . =
: L sind = /00 Y - g2 130y 4 (208 D)* C=2ab.
6. ) The captain of a shlp dlsé%w_ that he must divert his Courée in order 0 avoid several icebergs. He is headlng due ™F

east when he abruptly turns at an angle of 40°. After traveling 2 miles on this bearing, he turns at an angle of 100° and
continues at this angle for 8.8 miles untll he reaches his destination. How far out of his way does the captain have to fh") )

travel to get to his destination? % . a 7 “) ( 9.5
Y. Lo 41 tan!
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